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SA R E
M HYRAZHI(AXHZ L)
SRl D=2 FHI(RXIE D) (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 36,652 36,652
01 At2teltl 34,148 34,148
ORAMEE AtR2elH]
34,147,810& %14 34,148
02 S3=gHl 2,504 2,504 0
ORANE2Y s5=29Hl
2,503,360 x14] 2,504
202 04| 4,200 4,200
01 =LHO LI 4,200 4,200
OJl=g =80 100,000& «12& 1,200
ONA Y gRFa 22104l
3,000,000 *14! 3,000
203 =2l 4,200 4,200
MU FA2SHIFII 4,200 4,200
0258 Olat 350,000+ 12 4,200
405 KHaHE SH 6,200 1,000 5,200
01 AL =S F=H 6.200 1,000 5,200
O2JRH( ) 300,000 5H 1,500
OHZED(wA) 700,000 * 1K 700
OPC(= M) (A1) 1,000,000 *3H 3,000

O0ls4! o013 1,000,000 %12k 1,000




